7 —Yp g0 Jluwow 8 589 T 95 4l pl!

&0 &0 999 Ts) & b
W/\N/Y. W/NWNY Jol — 9,8 Jol &ia
/N /YY 8/11/7) P3d — T3) pgd diid
/1Y /+F 5/11/YA Jol— 9 g i
/1Y /1 8/1Y/+0 P3d — T3) 0 yle> &>
WNAY/\A WYY Jol — 8 PSRV
$/1Y/Y8 5 /1Y/14 g0 — T35 s 42>
RY/-\/Y¥ Y/ /NA Jol — 9,8 D 4SS
Y/ \ /¥ Y/ /¥D P9 — T35 o i
RY/.Y/Y Y/¥/\ Jol— 9,8 POYRVETY
Y/ +¥/\F Y/ ¥ /oA Pgd — 29 RS Aidd
Y /+Y/Y Y/+Y/18 Jol— 88 ST
Y/+Y/YA Y/+Y/YY Pe0— o3 | phdled idd
Y /+¥/+F Y /+Y/Y8 Jol— 03 B s &
Y /+¥/1\ /¥ /40 P90 —Z9; | phosle> aidn
/¥ /\A v/ ¥/\Y Jal — 8, b Pl s
Y /+¥/Y0 Y/+¥/14 ped— ey | phdyle ais

(3901 Cglae 09>




